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Answers and commentaries 
 

 
 

Section B 
9-mark questions 
 

Question 2.3  
Since Premium Motors started 10 years ago it has expanded slowly using organic growth. 
Recommend whether Premium Motors should now take over LLC. Give reasons for your 
recommendation. 

[9 marks] 
 

Mark scheme  
Marks for this question: AO2 – 3 marks AO3 – 6 marks 
 

Level  Marks  Description  

3  7–9  Detailed analysis and evaluation of topics based on the context  

• Sustained line of reasoning, which is coherent, relevant, substantiated 
with a focused conclusion that is fully justified.  

• Business areas are fully analysed.  

• Applies knowledge and understanding to the context sufficiently.  

2  4–6  Sound analysis and evaluation of topics based on the context  

• A line of reasoning, with a conclusion that has some justification.  

• Business areas are partially analysed.  

• Applies some knowledge and understanding to the context.  

1  1–3  Basic analysis and evaluation of topics based on the context  

• Basic line of reasoning with a conclusion.  

• Basic analysis of business areas.  

• Basic knowledge and understanding is applied to the context.  

0  0  • Nothing written worthy of credit.  

 
  

This resource is to be used alongside the GCSE Business June 2022 Question paper 1 
Influences of operations and HRM on business activity and inserts.   
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Indicative content: 
 

Application  Analysis/evaluation  

Premium Motors has been growing 
using organic growth which has taken 
10 years. Premium Motors will gain 
LLC’s customer base instantly.  

 

Highly competitive market.  

Taking over an established business will be a quick 
method of growth. The takeover will instantly give 
Premium Motors an existing customer base, with 
contracts with hotels lasting for another 12 months. 
This will save time of having to establish a customer 
base and reputation compared with organic 
growth. As the London market is competitive there 
is a risk using organic growth that Janet will not be 
able to attract customers away from the 
competition in an area where she has no 
reputation. As organic growth took 10 years in the 
past the external growth will enable Premium 
Motors to expand quicker.  

With the hotel contracts only lasting 
another year it will then have to be 
agreed again.  

 

Coordination from Manchester.  

 

Janet not familiar with London.  

The takeover is external growth is expensive as the 
cost of the takeover is £400 000. Janet will receive 
the customer base as part of the price paid, but as 
this only lasts for a year, she will have to 
renegotiate the contracts. If Janet is unable to 
manage the business effectively from Manchester 
this could affect its reputation and the hotels may 
choose a competitor when the contract finishes. 
This is more likely given that Janet is unfamiliar with 
the London area and business decisions may not 
be right for LLC’s market. Paying £400 000 
represents  

 
Evaluation/conclusion 
• How confident would Janet be of expanding into London using organic growth? 
• How secure is the customer base that she will acquire through the takeover? 
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Student responses 
 
Response A 

  



GCSE BUSINESS – 8132 – PAPER 1 - ANSWERS AND COMMENTARIES 
 
 

© 2024 AQA  6 of 43  

 
 

 
 

 
 
  

This is a Level 3 response  
 
It begins with some clear Level 2 line of reasoning with the student also showing an 
understanding of the concept growth.  There is a good line of reasoning and use of 
context.  There is then some use of the data/source material from Item A to explain why 
the expansion is beneficial which moves into Level 3.  The response then provides a strong 
counter argument providing clear reasoning as the drawbacks of expanding this way. The 
final recommendation does not further develop the reasoning but whilst there is a slight 
weakness in the conclusion the extensive use of the case study information in a logical and 
clear manner means this is a response achieving full marks..  
 
9 marks 
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 Response B 
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This is a Level 2 response  
 
There is clear Level 2 reasoning in the opening paragraph explaining the impact of the 
potential takeover and why more sales will come about. A second benefit is then outlined 
in relation to reducing the competition.  The student then provides a brief and simplistic 
counter argument but does not develop the point.  Finally, a decision with some 
justification is given.  This response provides a logical but not fully developed line of 
reasoning. To move to Level 3 the response would need to explain in more detail the how 
and why in relation to the business growing.  Points are made but not fully developed. 
 
6 marks 
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Response C 

 
 

 
  

This is a Level 2 response  
 
This response is a bottom of Level 2 response.  The reasons given for the takeover are 
generic and does not explain who the customers are in relation to the case study.  Reasons 
are then given against the takeover, again these are generic and could apply to any 
business although there is a limited use of context used relating to the cost of the takeover 
which move the response into Level 2.  The recommendation is given and with an 
attempted justification although this is limited.  To move to Level 3 the response would 
need to make a much more extensive use of the context and explain in more detail the 
points made relating to the business growing.  Points are far too generic and not fully 
developed. 
 
4 marks 
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Question 2.6 
Premium Motors has developed the new website to provide information about cars before 
making a booking. Janet is thinking of adding the option to book cars directly on the website. 
 
Recommend whether Janet should use e-commerce to improve customer service at 
Premium Motors. Give reasons for your recommendation. 

[9 marks] 
 
Mark scheme  
Marks for this question: AO2 – 3 marks AO3 – 6 marks 
 

Level  Marks  Description  

3  7–9  Detailed analysis and evaluation of topics based on the context  

• Sustained line of reasoning, which is coherent, relevant, 
substantiated with a focused conclusion that is fully justified.  

• Business areas are fully analysed.  

• Applies knowledge and understanding to the context sufficiently.  

2  4–6  Sound analysis and evaluation of topics based on the context  

• A line of reasoning, with a conclusion that has some justification.  

• Business areas are partially analysed.  

• Applies some knowledge and understanding to the context.  

1  1–3  Basic analysis and evaluation of topics based on the context  

• Basic line of reasoning with a conclusion.  

• Basic analysis of business areas.  

• Basic knowledge and understanding is applied to the context.  

0  0  • Nothing written worthy of credit  
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Indicative content: 
 

Application  Analysis/evaluation  

The price depends on several factors 
which will be difficult to manage 
online. 

  

At present there are no prices for car 
hire on the website. Customers must 
telephone a salesperson between 9 am 
and 6 pm Monday to Friday to agree 
the price of their car hire booking.  

E-commerce will not improve customer service as 
customers may find it difficult to find the correct 
price due to the several factors which make up 
the price. If customers do not have a 
straightforward booking, for example they are 
picking up customers from lots of locations this 
could make calculating the price difficult. If the 
customer books a car thinking they have worked 
out the price and this is not correct, then this 
could lead to complaints. As the prices are not 
currently on the website due to the fact there is 
not a set price it could mean this service is not 
suitable for e-commerce. Incorrect prices could 
mean that the booking does not make a profit for 
the business, which long term could lead to the 
business becoming insolvent.  

Prices could be requested using online 
chat and then easily booked.  

Telephoning a salesperson between 9 
am and 6 pm Monday to Friday for  

E-commerce will improve customer service as it 
allows customers to book at times convenient for 
them, increasing customer satisfaction. The sales 
team is only currently available Monday to Friday 
between 9 am and 6 pm, which means that if a 
customer is at work, they may not be able to  

 
Evaluation 
• Depends if the online chat team can give accurate prices. 
• Depends on what they are booking the car for – more complicated bookings such as 

weddings will need the sales team to consider the price to make sure a profit is made. 
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Student responses 
 
Response A 
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This is a Level 3 response  
 
There is a sound Level 2 line of reasoning and use of context to explain how the use of e-
commerce is beneficial to customers and therefore more customers using the service.  The 
first paragraph concludes with a link to sales when the question relates to customer 
service.  The counter line of reasoning outlines the drawbacks of e-commerce and a Level 
3 level of reasoning relating to the consequences of poor customer service.  The 
conclusion is limited and contains a basic justification.  The second paragraph is where this 
response achieves the bottom of Level 3. To move to the top of Level 3 the response 
would need to explain in more detail the effects on customer service and provide a more 
detailed justification as to why the business should or should not use ecommerce. 
 
7 marks 
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Response B 
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This is a Level 2 response 
 
There is clear Level 2 reasoning in the opening paragraph explaining how better customer 
service will come about through developing e-commerce.  There is a partial analysis of 
each of the points made in the response with both sides of the decision to use e-
commerce considered in part. The response shows a clear line of reasoning, and use of 
context but only partial analysis of the issues. To move to Level 3 the response would need 
to explain in more detail each of the points made with the consequences and effects fully 
detailed. 
 
5 marks 
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Response C 
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This is a Level 1 response 
 
This response is a middle of Level 1 response.  The response begins with a generic 
statement about being able to book from anywhere and then talks about more sales when 
the question is about customer service.  The problem outlined as a counter reason is an 
issue faced through any booking process so not appropriate to e-commerce alone and is 
again generic in nature.  The response concludes with a basic statement recommending 
the use of e-commerce. The response shows a basic line of reasoning, and a limited use of 
context with only a simplistic analysis of the issues. To move to Level 2 the response would 
need to show a greater understanding of what e-commerce is and be able to explain the 
issues in relation to the case study in context rather than in the generic way it has done. 
 
2 marks 
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Section B  
6-mark question 
 

Question 2.5  
Janet is considering introducing a new induction training programme for the new drivers to 
ensure a high level of customer service. 
 
Analyse one benefit of introducing the new induction training for drivers.  

[6 marks] 
 

Mark scheme  
Marks for this question: AO2 – 3 marks AO3 – 3 marks 
 

Level  Marks  Description  

3  5–6  Detailed analysis of topics based on the context  

• Business areas are fully analysed.  

• Applies knowledge and understanding to the context 
sufficiently.  

2  3–4  Sound analysis of topics based on the context  

• Business areas are partially analysed.  

• Applies some knowledge and understanding to the context.  

1  1–2  Basic analysis of topics based on the context  

• Basic analysis of business areas.  

• Basic knowledge and understanding is applied to the context.  

0  0  • Nothing written worthy of credit  
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Answers may include:  
 
Application:  
• the video will help drivers review how to deal with customers and have a high customer 

service – induction helps employees carry out their roles more efficiently  
• the role play exercise will allow drivers to practise dealing with difficult customers so when 

faced with them they know what do to – induction can help drivers become more 
productive.  

 
Example of a Level 3 developed answer  
The role play exercise will allow drivers to practise dealing with difficult customers in an 
environment where they can make mistakes without it affecting the business’ reputation for 
quality of service. This will mean that the new drivers will become more productive more 
quickly as when faced with a difficult customer they will know what do to, as the induction will 
have given them the opportunity to run through a number of different scenarios. Compared 
with a leaflet this will be more effective in making sure that there are fewer complaints about 
drivers, especially as they have also watched the more experienced driver dealing with a 
customer. 
 
Student responses 
 
Response A 
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This is a Level 3 response  
 
The response makes clear the benefit of introducing the induction training and how this 
will lead to improved reputation.  The knowledge and understanding of the concept is 
clear and the analysis linking induction training to the benefits good customer service are 
well developed.  There is a detailed line of reasoning along one line of discussion which 
makes the benefits to the business clear. 
  
6 marks 
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Response B 

 
 

 
 
  

This is a Level 2 response 
 
The response outlines a variety of benefits of the induction training but does not fully 
develop any.  The question asks for analysis of one benefit.  None of the three benefits 
given are developed and each one is only partially analysed. To move to Level 3 the 
response would need to focus on one benefit and fully analyse that.  The benefit of the 
induction training could be to the business, the customer or the driver. 
 
3 marks 
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Response C 

 
 

 
 
  

This is a Level 1 response 
 
The response makes a considerably basic statement about how the drivers will benefit 
from induction training and about the impact on their role. There is no development and 
there is no analysis. To move to Level 2 the response would need to provide more analysis 
explaining why the benefit given will help the business, the customer or the driver.  
 
2 marks 
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Section C  
6-mark questions 

 
Question 3.3 
There have been 500 applications received for the team leader’s job and the business now 
needs to shortlist only the most suitable applicants. 
 
Using Item C, analyse one way the person specification can be used to decide which 
applicants to invite for an interview. 

[6 marks] 
 
Mark scheme  
Marks for this question: AO2 – 3 marks AO3 – 3 marks 
 

Level  Marks  Description  

3  5–6  Detailed analysis of topics based on the context  

• Business areas are fully analysed.  

• Applies knowledge and understanding to the context sufficiently.  

2  3–4  Sound analysis of topics based on the context  

• Business areas are partially analysed.  

• Applies some knowledge and understanding to the context.  

1  1–2  Basic analysis of topics based on the context  

• Basic analysis of business areas.  

• Basic knowledge and understanding is applied to the context.  

0  0  • Nothing written worthy of credit.  

 
Application:  
• essential skills – three years’ experience of leading employees and communication skills – 

rule out any applicants without essential experience as it’s important to recruit the 
people with the right experience to ensure job success  

• shortlist any students who meet both the essential and desirable requirements, eg have 
worked in the mobile phone market – desirable could limit the amount of training 
needed and essential requirements would ensure the applicant is efficient at the 
role  

• needs someone who can lead effectively and help the success of the expansion – effective 
management of the new product.  
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Example of a Level 3 developed answer  
The person specification helps the business shortlist applicants for interview based on their 
skills/experience which gives them the ability to carry out the role. The business has indicated 
that it is essential that the applicants have experience of leading employees and good 
communication. If this is not present on their application then they can discard these 
applicants as they will not be suitable for the role. This should reduce the 500 people who 
applied. Ones that are left can be matched to the desirable requirements as this will mean 
they can carry out the role more effectively once employed and may save training for the 
business. This final list will be more likely be suitable for interview and match Anita’s need to 
find someone who can lead effectively. 
 
Student responses 
 
Response A 

 
 

 
 

This is a Level 3 response 
 
The response clearly identifies the way a person specification can be used to reduce the 
number of applicants explaining two steps which could be used to get numbers down.  
The response then refers back to the case study explaining that Anita will be able to find 
potential employees more suited to the job.  There is clear reasoning which stays focussed 
on the use of the person specification. 
 
6 marks 
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Response B 

 
 

 
 
 
  

This is a  Level 3 response 
 
The response identifies the stages a person specification can be used to reduce the 
number of applicants, removing those without the essential experience then those without 
the desirable elements.  To move to the top of Level 3 the response would need to use 
more context relating to the phone cases or outline the benefits to Anita in more detail.  
 
5 marks 
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Response C 

 
 

 
 
 
  

This is a Level 1 response 
 
The response is quite generic and refers to the process of shortlisting but not why using 
the person specification to do this would help reduce the numbers and select appropriate 
candidates for the job.  The idea of essential and/or desirable would need to be used to 
move to Level 2 or 3 and a greater use of context relevant to the case study.  
 
2 marks 
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Question 3.6 
Demand for the new ultra-thin phone cases is increasing. 
 
Analyse one advantage to Fone ltd of introducing its new flow production process.  

[6 marks] 
 

Mark scheme  
Marks for this question: AO2 – 3 marks AO3 – 3 marks 
Use the levels of response in previous section (page 23). 
 
Application: 
• increased demand for ultra-thin cases and the new flow production process means the 

business can produce up to 100 000 phone cases a month – flow allows businesses to 
increase volume to meet sales as demand is there 

• machines able to change the shape and style of the mobile phone cases for different 
makes and models of phones – use of equipment in flow production makes it easier to 
meet the demand for different phones and product range can increase 

• workers have specific jobs such as to load different colour materials into machines – 
allows for specialisation and workers can become more efficient 

• unit costs have decreased by £1.50 – the business has benefited from economies of 
scale due to new machinery 

• flow has reduced need for employees which have reduced from 14 to 10 – could save 
costs and result in economies of scale. 

 
Example of a Level 3 developed answer 
The business is experiencing an increasing demand for ultra-thin cases and the new flow 
production process means the business can produce up to 100 000 phone cases a month. 
Flow production will make it more efficient as production can be continuous without the need 
to stop. The specialist machine will enable the business to use this increase in output to meet 
the demand for different shapes and styles of phones which will need slight changes made 
such as the colour, allowing a wider range of consumer demand to be met. 
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Student responses 
 
Response A 

 
 

 
 
  

This is a Level 3 response 
 
The response makes clear the advantage of introducing the new production process and 
uses context to help – the demand has increased so the new machinery will help meet the 
demand.  The response is not detailed enough in developing a clear understanding of flow 
production to achieve the top of Level 3 but the reference to the case study is good 
application of knowledge.  
 
5 marks 
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Response B 

 
 

 
 
  

This is a Level 2 response 
 
The response does not fully develop how output would increase but does explain how 
using flow production would help meet the ‘demand which currently exceeds supply’. 
There is a partial analysis and to move to Level 3 there would need to be more about how 
the use of flow production would solve the issue of meeting the demand for phone cases.  
 
4 marks 
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Response C 

 
 

 
 
 

  

This is a Level 1 response 
 
The response makes a statement about the flow production helps keep up with demand 
and why it is needed.  This is followed up with statements about taking advantage of a gap 
in the market which have no relevance to the question.  To increase the level there needs 
to be more in the response which indicates an understanding of what flow production is 
and how this will help meet the increased demand for phone cases.  
 
2 marks 
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Section C 
12-mark question 
 

Question 3.7 
Anita wants to increase the productivity of all employees quickly and plans to use two options 
to achieve this. 
 
1. Introduce a new lean production technique to each department. 
2. Change the organisational structure and recruit internally for new assistant managers 
within each department. 
 
Analyse the effect of each of these two options on all employees at Fone ltd. 
 
Recommend which option Fone ltd should introduce first to improve productivity of all its 
employees in the short term.  

[12 marks] 
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Mark scheme  
Marks for this question: AO1 – 3 marks AO2 – 3 marks AO3 – 6 marks 
 

Level  Marks  Description  

4  10–12  Developed, integrated analysis and evaluation of topics with 
sustained judgement based on context  

• An integrated line of reasoning, which is coherent, relevant, with a 
conclusion where the area which has been impacted on the most 
has been fully justified.  

• Interdependent nature of business areas is fully analysed.  

• Applies knowledge and understanding to the context and 
successfully draws together several functional areas of business.  

3  7–9  Detailed analysis and evaluation of topics based on the context  

• A line of reasoning, which is coherent, relevant, with a conclusion 
that is justified.  

• Different business areas are analysed independently, or the 
interdependent nature of business areas is partially analysed.  

• Applies knowledge and understanding to the context and starts to 
draw together several functional areas of business.  

2  4–6  Sound analysis and evaluation of topics in isolation of their 
interdependence based on the context  

• A line of reasoning, with a conclusion that has some justification.  

• One business area is analysed independently.  

• Applies some knowledge and understanding to the context.  

1  1–3  Basic generic discussion of topics  

• A basic understanding of business concepts in isolation.  

• A basic understanding of one or more business concepts.  

• Partial relevance to the question.  

0  0  • Nothing written worthy of credit.  
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Understanding  Application  Analysis/evaluation  

Lean production looks 
at inefficiency and can 
boost productivity and 
reduce costs.  

Lean production and 
being part of the 
groups could be a non-
financial method of 
motivation as it could 
lead to greater 
responsibility.  

The reward for all staff 
can be a financial 
method of motivation.  

The groups will look at job 
roles and make suggestions 
for change.  

It will be optional to join.  

Groups can be set up 
immediately.  

Bonus of £5000 to be shared 
among the department.  

Human resources and 
marketing departments 
already have an efficient work 
force (7.5 and 7.7) out of 8 
hours.  

Lean production looks at 
inefficiency and can boost 
productivity and reduce costs.  

Being part of the groups could be 
a non-financial method of 
motivation as it could lead to 
greater responsibility. Each group 
will have the responsibility to 
look at roles and tasks within the 
department and look for changes 
to improve productivity. The 
employees who work within the 
department are the people best 
suited to making changes. This 
can also help boost job 
satisfaction which can lead to 
higher levels of productivity. The 
employees who want to get 
involved can do as it is optional, 
however as the bonus will be 
shared then all employees will 
benefit. As they can be set up 
immediately then the changes 
could be made quickly and within 
three months the bonus could 
have been given out. For the 
small departments this is more 
likely to be effective as the roles 
will be more familiar to all staff 
and the financial incentive 
greater. In operations it is 
difficult to see how this will have 
much financial incentive as 15 
employees will share the £5000. 
However, with the lowest staff 
productivity even a minor change 
suggested by the group could 
improve this and reduce the two 
hours wasted each day.  
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Assistant manager 
roles may motivate 
employees as they will 
have higher pay and 
more senior roles in 
the business. Motivated 
employees normally 
work harder and do the 
job more efficiently.  

It provides 
opportunities for 
progression within the 
business and can help 
employee retention.  

£5000 extra pay and more 
duties such as higher 
authority in decision making 
in each department and will 
oversee employees’ training.  

Human resources and 
marketing are small 
departments with only five 
employees.  

The larger departments may 
become more efficient as an 
assistant manager will be 
delegated tasks, eg training.  

Assistant manager roles may 
motivate employees as they will 
have higher pay and more senior 
roles in the business. Motivated 
employees normally work harder 
and do the job more efficiently. 
This can be both a financial and a 
non-financial method of 
motivation. As the successful 
applicant will gain about £5000 
more in pay this could motivate 
them to work more productively. 
It can also help improve other 
employees’ productivity as it can 
be seen as giving more 
opportunities to move up the 
organisation. However, its 
success will depend on how 
many employees apply for the 
role and if they see it as being fair 
and open to all. With 15 staff in 
the operations department and 
there is already a team leader in 
that department it may not help. 
Whereas in human resources a 
smaller number of employees 
will apply for the role.  

 
What does it depend on? Evaluation and integration  
• Employee productivity is lowest in the operations department. Does she need to improve 

productivity for all employees in the business?  

• If employees are likely to get involved with the groups.  

• In the operations department a high number of employees may apply for the assistant 
manager job and this could mean that the time it takes will be too long to have an 
immediate impact on motivation and thus productivity.  

• Pay could be the main issue for lower motivation and productivity and a pay-rise for all may 
be more effective.  

• Depends if the roles in each department can be improved with the group.  
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Student responses 
 
Response A 
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This is a Level 3 response 
 
It begins with some clear Level 2 line of reasoning with the student also showing an 
understanding of the concept of lean production.  The consequences of introducing the 
lean production method are then outlined and there is a recognition that not just 
operations will benefit.  The counter argument that it will take time to implement the 
changes and the consequences of this move the response into Level 3. The second part of 
the response focuses on the option to change the organisational structure, again showing 
an understanding of the concept and the effects this change will have on the workforce.  
There is a clear line of reasoning and identification of consequences.  The analysis involves 
some repetition and is therefore only sound rather than detailed. The question asks for a 
recommendation and the development of this part of the response provides a clear 
summary, but is repetitive of earlier parts of the response, the decision is simplistic and 
could apply to any business.  In summary the response contains a good line of reasoning, 
a relevant conclusion and some analysis, although this is repetitive.  In order to move to 
Level 4 the response would need to consider all employees in the business and include 
more analysis of the time scales and short and long term impacts on the productivity of all 
employees. 
 
9 marks 
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This is a Level 2 response 
 
It begins with a generic statement how all employees can become more productive if lean 
production is introduced and that this can be done immediately.  There is no development 
of how an immediate implementation would help.  The counter argument is again generic 
and has limited use of context.  At this point there is the start of a line of reasoning at Level 
2.  The alternative option is then considered with a basic line of reasoning which is again 
generic and could relate to any business.  The points made are sound in analysis but not 
linked together and are repetitive in nature. The question asks for a recommendation and 
the development of this part of the response is not in detail.  In summary the response 
considers both options with some indication that the difference in the time taken to 
implement each option will be different alongside some indication that promotion 
opportunities will be beneficial.  There is context but this is limited.  In order to move to 
Level 3 the response would need a greater use of context and a line of reasoning which is 
more connected rather than separate points. The response needs to show a clear 
understanding of the impacts on the productivity of all employees.  
 
6 marks 



GCSE BUSINESS – 8132 – PAPER 1 - ANSWERS AND COMMENTARIES 
 
 

© 2024 AQA  41 of 43  

 

Response C 
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This is a Level 2 response 
 
It begins with some simple knowledge points about organisational structure and lean 
production.  The response then makes an incorrect statement about departments 
competing and creating tension in the workplace which is the opposite of what is stated in 
the information being used for the question. The response goes on to give a sound 
analysis with some partially developed reasoning relating to changing the organisational 
structure although this is generic and could be applied to any business. 
There is a basic line of reasoning for both options and the response fails to develop a 
justification for the option being suggested.  In summary the response has a basic line of 
reasoning with a conclusion but contains no developed analysis of which is the best 
option. 
In order to move to Level 3 the response would need a greater use of context and a line of 
reasoning which is more connected rather than separate points. The response needs to 
show a clear understanding of the impacts on the productivity of all employees.  
 
4 marks 



Copyright © 2024 AQA and its licensors. All rights reserved.

AQA Education (AQA) is a registered charity (registered charity number 1073334) and a company limited by 
guarantee registered in England and Wales (company number 3644723).

Registered address: AQA, Devas Street, Manchester M15 6EX.

Get help and support
Visit our website for information, guidance, support 
and resources at aqa.org.uk/8132

You can talk directly to the Business subject team
E: business-studies@aqa.org.uk

T: 01483 477 863


	GCSE Business AC-Paper 1-v1.0.pdf
	GCSE Business (8132/1) Answers and commentaries

	Answers and commentaries covers BACK.pdf
	Phase 3 & 4 Answers and commentaries covers FRONT.pdf



